Aitkin County Board of Commissioners Request for County Board Action/Agenda Item Cover Sheet



To: Chairperson, Aitkin County Board of Commissioners Date: <u>5-16-2012</u>
Via: Patrick Wussow, County Administrator
From: John Welle
Title of Item:
Contract Award – S.P. 01-090-002
Requested Meeting Date: <u>5-22-12</u> Estimated Presentation Time: <u>5 minutes</u>
Presenter: <u>John Welle</u>
Type of Action Requested (check all that apply)
For info only, no action requested Approve under Routine Business
For discussion only with possible future action Adopt Ordinance Revision
Let/Award Bid or Quote (attach copy of basic bld/quote specs or summary of complex specs, each bid/quote received & bid/quote
comparison) Approve/adopt proposal by motion X_Approve/adopt proposal by resolution (attach draft resolution)
Authorize filling vacant staff position
Request to schedule public hearing or sale Other (please list)
Request by member of the public to be heard
Item should be addressed in closed session under MN Statute
Fiscal Impact (check all that apply)
Is this item in the current approved budget? X Yes No (attach explanation)
What type of expenditure is this? Operating _X _ Capital Other (attach explanation)
Revenue line account # that funds this item is:5841,5848, 5854
Expenditure line account # for this item is: 6262
Staffing Impact (Any yes answer requires a review by Human Resources Manager before going to the board)
Duties of a department employee(s) may be materially affectedYesNo
Applicable job description(s) may require revisionYes No
Item may impact a bargaining unit agreement or county work policyYesNo
Item may change the department's authorized staffing levelYesNo
Supporting Attachment(s)
X_ Memorandum Summary of Item Copy of applicable county policy and/or ordinance (excerpts acceptable)
Copy of applicable county policy and/or ordinance (excerpts acceptable) Copy of applicable state/federal statute/regulation (excerpts acceptable)
Copy of applicable contract and/or agreement
Original bid spec or quote request (excluding complex construction projects)
Bids/quotes received (excluding complex construction projects, provide comparison worksheet)
Bid/quote comparison worksheet
X_Draft County Board resolution
Plat approval check-list and supporting documents
Copy of previous minutes related to this issue
X Other supporting document(s) (please list) Abstract of Rids

Date: May 15, 2012

Regular Agenda Item:

Contract Award:

S.P. 01-090-02 - Cuyuna Lakes Trail - Aitkin Segment

Summary:

Sealed bids were opened for this project on April 16, 2012, with the three bids received summarized on the attached abstract of bids. From the abstract, Eagle Construction from Little Falls, MN was the low bid at \$503,006.40, 5.35% over the estimated cost of \$477,443.40. Since the City of Aitkin is the owner of this project, the Aitkin City Council is scheduled to approve Aitkin County awarding this project at their May 21st Council Meeting. Pending that approval, award to Eagle Construction is recommended by the attached resolution.

Draft Resolution:

WHEREAS, Eagle Construction of Little Falls, MN was the lowest responsible bidder in the amount of \$503,006.40 for SP 01-090-02

NOW THEREFORE, BE IT RESOLVED, That Eagle Construction be awarded the contract for the Aitkin Multi-Use Trails

BE IT FURTHER RESOLVED, That the Chairperson of the Aitkin County Board and the Aitkin County Auditor are hereby authorized and directed to enter into a contract on behalf of Aitkin County with said low bidder upon presentation of proper contract documents.

ABSTRACT OF BIDS SP 01-090-02 Aitkin Trails

	Project: SP 001-090-002 - Aitkin Trails m No. Item		G 7 2 3 5 5		Engineers Estimate		Eagle Construction		Dechantal Excavating, LLC		Roth Construction	
						5	Little Falls, MN		Brainerd, MN		McGrath, MN	
Item No.			Units	Quantity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
1	2021.501	MOBILIZATION	LUMP SUM	1	\$12,000.00	\$12,000.00	\$14,800.00	\$14,800.00	\$31,102.40	\$31,102.40	\$30,000.00	\$30,000.0
1	2051.501	MAINT & RESTORATION OF HAUL ROADS	LUMP SUM	1	\$500.00	\$500.00	\$2,500.00	\$2,500.00	\$1,600.00	\$1,600.00	\$15,000.00	\$15,000.0
	1 2100.601	PEDESTRIAN BRIDGE (SUPERSTRUCTURE)	LUMP SUM	1	\$77,500.00	\$77,500.00	\$81,000.00	\$81,000.00	\$64,050.00	\$64,050.00	\$65,695.00	\$65,695.0
1	2101.511	CLEARING AND GRUBBING	LUMP SUM	1	\$7,000.00	\$7,000.00	\$3,000.00	\$3,000.00	\$6,100.00	\$6,100.00	\$5,000.00	\$5,000.0
1	2102.501	PAVEMENT MARKING REMOVAL	SQ FT	97	\$3.00	\$291.00	\$2.00	\$194.00	\$1.85	\$179.45	\$2.00	\$194.0
15	2104.501	REMOVE PIPE CULVERTS	LIN FT	195	\$7.00	\$1,365.00	\$9.00	\$1,755.00	\$8.50	\$1,657.50	\$5.00	\$975.0
20	2104.505	REMOVE BITUMINOUS PAVEMENT	SQ YD	560	\$5.00	\$2,800.00	\$10.00	\$5,600.00	\$2.10	\$1,176.00	\$4.25	\$2,380.0
2	2104.509	REMOVE PIPE APRON	EACH	2	\$100.00	\$200.00	\$50.00	\$100.00	\$110.00	\$220.00	\$50.00	\$100.0
2:	2 2104.513	SAWING BITUMINOUS PAVEMENT (FULL DEPTH)	LIN FT	425	\$5.00	\$2,125.00	\$3.00	\$1,275.00	\$3.25	\$1,381.25	\$3.00	\$1,275.0
2:	2104.521	SALVAGE METAL CULVERTS	LIN FT	30	\$10.00	\$300.00	\$10.00	\$300.00	\$12.40	\$372.00	\$6.00	\$180.0
2	2104.523	SALVAGE CONCRETE APRON	EACH	1	\$100.00	\$100.00	\$50.00	\$50.00	\$210.00	\$210.00	\$100.00	\$100.00
2	2104.523	SALVAGE METAL APRON	EACH	2	\$100.00	\$200.00	\$50.00	\$100.00	\$145.00	\$290.00	\$50.00	\$100.00
2	2105.501	COMMON EXCAVATION (P)	CU YD	1653	\$12.00	\$19,836.00	\$13.00	\$21,489.00	\$11.15	\$18,430.95	\$8.49	\$14,033.9
2	7 2105.505	MUCK EXCAVATION (LV)	CU YD	658	\$12.00	\$7,896.00	\$10.00	\$6,580.00	\$12.50	\$8,225.00	\$12.95	\$8,521.10
2	2105.521	GRANULAR BORROW (EV)	CU YD	6416	\$12.00	\$76,992.00	\$12.00	\$76,992.00	\$13.75	\$88,220.00	\$16.25	\$104,260.00
2:	2105.604	GEOTEXTILE FABRIC TYPE V	SQ YD	1733	\$2.00	\$3,466.00	\$1.00	\$1,733.00	\$3.45	\$5,978.85	\$1.75	\$3,032.7
3	2211.501	AGGREGATE BASE CLASS 5	TON	2498	\$15.00	\$37,470.00	\$21.00	\$52,458.00	\$17.45	\$43,590.10	\$18.25	\$45,588.5
3	2360.501	TYPE SP 12.5 WEARING COURSE MIXTURE (2,A)	TON	725	\$95.00	\$68,875.00	\$94.00	\$68,150.00	\$78.75	\$57,093.75	\$100.00	\$72,500.0
	2 2401.501	STRUCTURAL CONCRETE (1A43) (P)	CU YD	13	\$425.00	\$5,525.00	\$450.00	\$5,850.00	\$725.00	\$9,425.00	\$725.00	\$9,425.00
	2401.501	STRUCTURAL CONCRETE (3Y43) (P)	CU YD	21	\$625.00	\$13,125.00	\$800.00	\$16,800.00	\$725.00	\$15,225.00	\$725.00	\$15,225.00
	2401.541	REINFORCEMENT BARS (P)	POUND	1140	\$1.05	\$1,197.00	\$1.00	\$1,140.00	\$2.20	\$2,508.00	\$2.00	\$2,280.00
	2401.541	REINFORCEMENT BARS (EPOXY COATED) (P)	POUND	2690	\$1.25	\$3,362.50	\$1.50	\$4,035.00	\$2.20	\$5,918.00	\$2.00	\$5,380.00
	2401.601	STRUCTURE EXCAVATION	LUMP SUM	1	\$3,500.00	\$3,500.00	\$6,000.00	\$6,000.00	\$3,675.00	\$3,675.00	\$3,500.00	\$3,500.0
	7 2401.601	SLOPE PREPARATION	LUMP SUM	1	\$3,500.00	\$3,500.00	\$1,500.00	\$1,500.00	\$3,675.00	\$3,675.00	\$3,500.00	\$3,500.0
	2402.583	APPROACH RAILING	LIN FT	40	\$145.00	\$5,800.00	\$100.00	\$4,000.00	\$375.00	\$15,000.00	\$375.00	\$15,000.0
	2442.501	REMOVE OLD BRIDGE	LUMP SUM	1	\$4,000.00	\$4,000.00	\$3,200.00	\$3,200.00	\$1,250.00	\$1,250.00	\$1,500.00	\$1,500.00
1	2452.602	HELICAL PILE LOAD TEST	EACH	4	\$1,250.00	\$5,000.00	\$4,500.00	\$18,000.00	\$4,100.00	\$16,400.00	\$4,000.00	\$16,000.00
1	1 2452.603	HELICAL PILE ASSEMBLY INSTALLED	LIN FT	500	\$55.00	\$27,500.00	\$44.00	\$22,000.00	\$40.75	\$20,375.00	\$39.00	\$19,500.00
3	2 2501.511	12" CS PIPE CULVERT	LIN FT	132	\$18.00	\$2,376.00	\$21.00	\$2,772.00	\$25.15	\$3,319.80	\$16.25	\$2,145.0
3	2501.511	30" CS PIPE CULVERT	LIN FT	6	\$40.00	\$240.00	\$60.00	\$360.00	\$55.95	\$335.70	\$51.50	\$309.0
3	4 2501.511	24" RC PIPE CULVERT	LIN FT	6	\$50.00	\$300.00	\$127.00	\$762.00	\$43.30	\$259.80	\$51.75	\$310.5
3	2501.515	12" GS PIPE APRON	EACH	6	\$100.00	\$600.00	\$120.00	\$720.00	\$129.75	\$778.50	\$95.00	\$570.0
3	2501.515	18" GS PIPE APRON	EACH	3	\$150.00	\$450.00	\$200.00	\$600.00	\$219.55	\$658.65	\$125.00	\$375.0
3	7 2501.519	30" GS PIPE APRON	EACH	1	\$300.00	\$300.00	\$400.00	\$400.00	\$424.75	\$424.75	\$340.00	\$340.00
7	2501.515	24" RC PIPE APRON	EACH	1	\$600.00	\$600.00	\$1,170.00	\$1,170.00	\$871.55	\$871.55	\$825.00	\$825.00
3	8 2501.571	INSTALL METAL CULVERT	LIN FT	30	\$10.00	\$300.00	\$8.00	\$240.00	\$16.10	\$483.00	\$8.00	\$240.00
3	9 2501.573	INSTALL METAL APRON	EACH	2	\$100.00	\$200.00	\$75.00	\$150.00	\$135.00	\$270.00	\$50.00	\$100.00
4	2501.573	INSTALL CONCRETE APRON	EACH	1	\$150.00	\$150.00	\$300.00	\$300.00	\$355.00	\$355.00	\$100.00	\$100.00
4	2501.602	24"x 4' RC PIPE CULVERT - 30 DEG. ELBOW	EACH	1	\$800.00	\$800.00	\$800.00	\$800.00	\$790.05	\$790.05	\$800.00	\$800.0
4	2 2502.521	4" TP PIPE DRAIN	LIN FT	38	\$20.00	\$760.00	\$18.00	\$684.00	\$11.50	\$437.00	\$3.00	\$114.0
4	3 2503.511	18" CP PIPE SEWER	LIN FT	480	\$24.00	\$11,520.00	\$25.00	\$12,000.00	\$25.25	\$12,120.00	\$21.75	\$10,440.0
4	4 2506.502	CONSTRUCT DRAINAGE STRUCTURE DESIGN G OR H	EACH	6	\$1,500.00	\$9,000.00	\$1,600.00	\$9,600.00	\$1,735.00	\$10,410.00	\$1,325.00	\$7,950.00
4	5 2506.502	CONSTRUCT DRAINAGE STRUCTURE DESIGN SD	EACH	2	\$2,500.00	\$5,000.00	\$1,550.00	\$3,100.00	\$1,847.00	\$3,694.00	\$1,325.00	\$2,650.0

46	2506.522	ADJUST FRAME & RING CASTING	EACH	1	\$200.00	\$200.00	\$200.00	\$200.00	\$375.00	\$375.00	\$450.00	\$450.00
47	2511.501	RANDOM RIPRAP CLASS II	CU YD	15	\$100.00	\$1,500.00	\$60.00	\$900.00	\$88.00	\$1,320.00	\$82.50	\$1,237.50
12	2511.501	RANDOM RIPRAP CLASS III	CU YD	100	\$55.00	\$5,500.00	\$50.00	\$5,000.00	\$88.00	\$8,800.00	\$67.50	\$6,750.00
48	2521.501	4" CONCRETE WALK	SQ FT	576	\$5.00	\$2,880.00	\$5.00	\$2,880.00	\$4.60	\$2,649.60	\$5.25	\$3,024.00
49	2531.501	CONCRETE CURB & GUTTER DESIGN B624	LIN FT	315	\$20.00	\$6,300.00	\$21.00	\$6,615.00	\$16.05	\$5,055.75	\$18.75	\$5,906.25
50	2531.618	TRUNCATED DOMES	SQ FT	120	\$35.00	\$4,200.00	\$30.00	\$3,600.00	\$32.55	\$3,906.00	\$35.00	\$4,200.00
51	2540.602	BOLLARD	EACH	4	\$70.00	\$280.00	\$70.00	\$280.00	\$150.00	\$600.00	\$175.00	\$700.00
52	2540.602	BOLLARD DESIGN SPECIAL	EACH	2	\$150.00	\$300.00	\$550.00	\$1,100.00	\$1,250.00	\$2,500.00	\$3,500.00	\$7,000.00
53	2557.603	INSTALL WOODEN FENCE	LIN FT	288	\$20.00	\$5,760.00	\$9.00	\$2,592.00	\$10.50	\$3,024.00	\$15.00	\$4,320.00
54	2563.601	TRAFFIC CONTROL	LUMP SUM	1	\$3,000.00	\$3,000.00	\$2,736.00	\$2,736.00	\$2,940.00	\$2,940.00	\$3,750.00	\$3,750.00
55	2564.531	SIGN PANELS TYPE C	SQ FT	38.34	\$50.00	\$1,917.00	\$70.00	\$2,683.80	\$68.25	\$2,616.71	\$65.00	\$2,492.10
56	2571.602	SALVAGE 3' PINE TREE SEEDLINGS	EACH	3	\$200.00	\$600.00	\$200.00	\$600.00	\$420.00	\$1,260.00	\$425.00	\$1,275.00
57	2573.502	SILT FENCE, TYPE PREASSEMBLED MAINTAINED	LIN FT	1470	\$2.00	\$2,940.00	\$2.00	\$2,940.00	\$2.10	\$3,087.00	\$2.10	\$3,087.00
13	2573.502	SILT FENCE, TYPE MACHINE SLICED	LIN FT	400	\$2.50	\$1,000.00	\$2.00	\$800.00	\$3.15	\$1,260.00	\$3.15	\$1,260.00
14	2573.505	FLOTATION SILT CURTAIN TYPE MOVING WATER	LIN FT	60	\$12.50	\$750.00	\$15.00	\$900.00	\$10.50	\$630.00	\$12.00	\$720.00
58	2573.505	FLOTATION SILT CURTAIN TYPE WORK AREA	LIN FT	50	\$12.50	\$625.00	\$20.00	\$1,000.00	\$10.50	\$525.00	\$12.00	\$600.00
59	2573.512	TEMPORARY DITCH CHECK TYPE 2	LIN FT	48	\$10.00	\$480.00	\$3.00	\$144.00	\$4.20	\$201.60	\$20.35	\$976.80
60	2573.53	STORM DRAIN INLET PROTECTION	EACH	9	\$100.00	\$900.00	\$70.00	\$630.00	\$125.00	\$1,125.00	\$175.00	\$1,575.00
61	2573.54	FILTER LOG TYPE ROCK LOG	LIN FT	41	\$10.00	\$410.00	\$10.00	\$410.00	\$10.50	\$430.50	\$8.75	\$358.75
62	2575.501	SEEDING (P)	ACRE	2.82	\$150.00	\$423.00	\$500.00	\$1,410.00	\$420.00	\$1,184.40	\$750.00	\$2,115.00
63	2575.502	SEED MIXTURE 270	POUND	338	\$3.00	\$1,014.00	\$1.50	\$507.00	\$1.60	\$540.80	\$2.50	\$845.00
64	2575.523	EROSION CONTROL BLANKETS CATEGORY 2	SQ YD	1694	\$2.00	\$3,388.00	\$1.50	\$2,541.00	\$1.85	\$3,133.90	\$1.75	\$2,964.50
65	2575.532	FERTILIZER TYPE 2	POUND	987	\$0.50	\$493.50	\$1.00	\$987.00	\$1.05	\$1,036.35	\$1.50	\$1,480.50
66	2575.56	HYDRAULIC SOIL STABILIZER TYPE 5	POUND	5922	\$0.70	\$4,145.40	\$0.80	\$4,737.60	\$0.80	\$4,737.60	\$0.75	\$4,441.50
67	2575.57	RAPID STABILIZATION METHOD 2	ACRE	0.152	\$3,000.00	\$456.00	\$2,000.00	\$304.00	\$1,050.00	\$159.60	\$8,000.00	\$1,216.00
68	2582.502	24" SOLID LINE WHITE-EPOXY	LIN FT	30	\$20.00	\$600.00	\$11.00	\$330.00	\$9.95	\$298.50	\$9.50	\$285.00
69	2582.503	CROSSWALK MARKING-EPOXY	SQ FT	480	\$7.00	\$3,360.00	\$4.00	\$1,920.00	\$4.45	\$2,136.00	\$4.25	\$2,040.00
	Totals for Project SP 001-090-002					\$477,443.40		\$503,006.40		\$514,069.36		\$552,583.72
	% of Estimate for Project SP 001-090-002							5.35%		7.67%		15.74%

I hereby certify that this is an exact reproduction of bids received.

Certified By:	License No
Date:	